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QUESTION 1

Refer to the exhibit.

Customer A

. Ge0/2 Ge0/2
TLOC Extension

R1 R2

An MPLS connection on R2 must extend to R1 Users behind R1 must have dual connectivity for data traffic Which
configuration provides R1 control connectivity over the MPLS connection?
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A~ R1
interface ge0/2
ip address 34.34.34.4/30

tloc-extension gel/1

R2
Interface ge0/0
ip address 34.34.34.2/30

tunnel-interface
color mpls

B. R1
interface ge0/2

ip address 34.34.34.1/20
tloc-extension geo/1

tunnel-interface
color mplsa

R2

interface ge0/2
ip address 34 34 34 2730
tioc-extension gel/0

tunnel-interface
color public-internet

Gy
interface ge0/2
ip address 34 .34 34 1730
tunnel-interface

color mpls
corntrol connection

R2

Interface ge 0/2
ip address 34.34.34.3/30
tioc-axtension gel/0

D R1
interface ge0/2
ip address 34.34.34.1/30
tunnel-intarface
color mpls

R2
Interface geli2

ip address 24.34.34.2/30
tloc-extension geliD

A. Option A
B. Option B

C. Option C
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D. Option D

Correct Answer: D

QUESTION 2

Which type of connection is created between a host VNet and a transit VNet when configuring Cloud OnRamp for
lease?

A. GRE tunnel

B. Azure peer link

C. IPsec turtle

D. Azure private endpoint
Correct Answer: C

Reference: https://www.cisco.com/c/en/us/td/docs/solutions/CVD/SDWAN/cisco-sdwan-cloud-onramp-iaas-azure-
deploy-guide.html

QUESTION 3

A policy is created to influence routing in the network using a group of prefixes. What policy application will achieve this
goal when applied to a site list?

A. Vpn-membership policy
B. Control-policy

C. cflowd-template

D. App-route policy

Correct Answer: B

QUESTION 4

What is the order of operations for software upgrades of Cisco SD-WAN nodes?
A. vBond, vManage, vSmart, WAN Edge

B. vManage, vBond, vSmart, WAN Edge

C. vManage, vBond, WAN Edge, vSmart

D. vManage, vSmart, vBond, WAN Edge
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Correct Answer: B

QUESTION 5

PEER PEER
PEER PRIVATE PEER PUBLIC LOCAL
PRIVATE IP PORT PUBLIC IP PORT REMOTE COLOR  STATE ERROR
10.0.2.73 23456 10.0.2.73 23456 default trying | DCONFALL

Refer to the exhibit. Cisco SD-WAN is deployed with controllers hosted in a data center. All branches have WAN Edge
devices with dual connections to the data center: one via Internet and the other using MPLS. Three branches out of 20
have issues with their control connections on MPLS circuit. The local error refers to Control Connection Failure. Which
action resolves the issue?

A. Update the system IP on vManage and then resend it to the controllers.

B. Rectify any issues with the underlay routing configuration.

C. Match the TLOC color on the controllers and all WAN Edge devices.

D. Math certificates for the DTLS connection and Root CA must be installed first on WAN Edge devices.

Correct Answer: B
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